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» case i = 1: P(1AH HA) SHE
» case i > 1: (Vj < . PFAMH L)) = PRI HA)
S3
=,
> ‘“base case": 12| 7} BtE= 250 OfSl, P(x) SB.
» “inductive case”: -ELZ! X7t gte= 250 offsh,
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= true

false

not /]
[f1] andalso [ f5]
[f1] orelse [ f2]

= [fi] implies [f5]

fol oozt ol & 4.
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[(TA(TVF))= F]

= [T'A(TV F)]implies [F]

(7] andalso [TV F) implies false

(true andalso ([T7] orelse [F])) implies false
(true orelse false)) implies false

= (true andalso

false
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[gr A+ A gn = f] = true QU7F?
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» 7| Ae] 2tHd soundness:
'k fO|H [T = f] = true
» 7|A|Q| 2FHM completeness:

'k f 0| [T = f] = true



